Stottan

Engine Size Crank? Description A Description B Description C Kit Master Component Mfr Component Component Description Required Qty




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan

262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262

2222222222222 2222222222222222222222222z2z2z222z2z2z2z2z2z2zz2zz222222

GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L175/185 V-6
GM 4.3L175/185 V-6
GM 4.3L175/185 V-6
GM 4.3L175/185 V-6
GM 4.3L175/185 V-6
GM 4.3L175/185 V-6
GM 4.3L175/185 V-6
GM 4.3L175/185 V-6
GM 4.3L175/185 V-6
GM 4.3L175/185 V-6
GM 4.3L175/185 V-6
GM 4.3L175/185 V-6
GM 4.3L 175/185 V-6

2-PC REAR SEAL

2-PC REAR SEAL

2-PC REAR SEAL

2-PC REAR SEAL

2-PC REAR SEAL

2-PC REAR SEAL

2-PC REAR SEAL

2-PC REAR SEAL

2-PC REAR SEAL

2-PC REAR SEAL

2-PC REAR SEAL

2-PC REAR SEAL

1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH

REV ROT/FLAT TAPPET
REV ROT/FLAT TAPPET
REV ROT/FLAT TAPPET
REV ROT/FLAT TAPPET
REV ROT/FLAT TAPPET
REV ROT/FLAT TAPPET
REV ROT/FLAT TAPPET
REV ROT/FLAT TAPPET
REV ROT/FLAT TAPPET
REV ROT/FLAT TAPPET
REV ROT/FLAT TAPPET
REV ROT/FLAT TAPPET
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM

919 600
919 600
919 600
919 600
919 600
919 600
919 600
919 600
919 600
919 600
919 600
919 600
916 600
916 600
916 600
916 600
916 600
916 600
916 600
916 600
916 600
916 600
916 600
916 600
916 600
916 600
916 600
916 600
916 600
916 600
916 600
916 600
916 600
916 600
916 600
916 600
916 600
916 600
916 600
916 600
916 600
916 600
916 600
916 600
916 600
916 600
916 600
916 600
916 600
916 600
916 600
916 600
916 600
916 600
916 600

ELG
ELG
PIO
ELG
ELG
ELG
ELG
ELG
PIO
PIO
PIO
PIO
DAN
HAS
HAS
DAN
KIN
VIC
VIC
VIC
VIC
KIN
JPI
ELG
CLO
CLo
CLo
MEL
MEL
MEL
MEL
MEL
MEL
ELG
MEL
MEL
SEA
ELG
ELG
ELG
BPR
CRA
VIC
VIC
VIC
VIC
VIC
VIC
VIC
ELG
ELG
ELG
QUA
ELG
QUA

RK-401
RM-1786-16
S$1010
RDS-920-16
RDS-921-16
RDS-1920-16
RM-1731-16
RM-1792-16
51024
CRN-731-48
PK-126-25
PK-9-25
50664CP
4721
2C5712
50664CP
CR6625SI|
HS3764M
0532485
JV554
Jvi041
MBA445S|
SH1350S
TC-3092
94149
S784T

S645

M-55
M-55HV
K-55

55-52
I1S-55G
IS-55E
M-55005
M-155
M-155HV
423NPS
EP185BR
E-1033-P
HL-2148S
BP234
12720
HS3764M
5775
95123P
MS15352
0532485
Jv554
Jv1041
1-408B
E-1923B
EX-1779B
30-7946
57118S
30-6867

ROCKER ARM KITS
ROCKER ARM NUT 3/8
HP ROCKER NUT 3/8
ROCKER STUD-PRESS

ROCKER ARM COMPONENT

ROCKER STUDS

ROCKER BALL-SMOOTH
ROCKER BALL-GROOVED
HP ROCKER BALL KIT
ROD NUTS 3/8X24
WOODRUFF KEYS 1 3/8
WOODRUFF KEYS 3/4
PC PISTON RINGS

STEEL RINGS

CHROME RINGS

PC PISTON RINGS

ROD BEARINGS

HEAD GASKET SET

OIL PAN GASKET

REAR MAIN RUB 1 PC
TIMING COVER SET
MAIN BEARINGS

CAM BEARINGS

TIMING CHAIN SETS
TIMING CHAIN

TIMING SPROCKET
CRANK SPROCKET

OIL PUMP

HIGH VOLUME OIL PUMP
OIL PUMP KIT EXC HV
OIL PUMP SCREEN

O/P DRIVE-NYLON GDE
O/P DRIVE W/STEEL GD
OIL PUMP SHAFT GUIDE
OIL PUMP

HIGH VOLUME OIL PUMP
PISTONS DISH TOP
EXPANSION PLUG KITS
PERFORMANCE CAM
LIFTER W/O AFM

GM 4.3L V6 CONN ROD
CRANKSHAFT KIT

HEAD GASKET SET
HEAD GASKET

EXH MANIFOLD GASKET
INTAKE GASKET 85-87
OIL PAN GASKET

REAR MAIN RUB 1 PC
TIMING COVER SET
CHROME VLVS 1.938 HD
CHROME VALVES 1.5 HD
VALVES .371 STEM 1.5
VALVE GUIDE

SPIRAL VALVE GUIDES
VALVE GUIDE

= PR R R R B
N R NNNNNERNN

L e W e e e S e S N e S e S e S e N e N e S e S e e e i

=
N

DD DD P BB B NRE B O

Page 11




Stottan

262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262

2222222222222 2222222222222222222222222z2z2z222z2z2z2z2z2z2zz2zz222222

GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L175/185 V-6
GM 4.3L175/185 V-6
GM 4.3L175/185 V-6
GM 4.3L175/185 V-6
GM 4.3L175/185 V-6
GM 4.3L175/185 V-6
GM 4.3L175/185 V-6
GM 4.3L175/185 V-6
GM 4.3L175/185 V-6
GM 4.3L175/185 V-6
GM 4.3L175/185 V-6
GM 4.3L175/185 V-6
GM 4.3L 175/185 V-6

1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH

STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM

916 600
916 600
916 600
916 600
916 600
916 600
916 600
916 600
916 600
916 600
916 600
916 600
916 600
916 600
916 600
916 600
916 600
916 600
916 600
916 600
916 600
916 600
916 600
917 600
917 600
917 600
917 600
917 600
917 600
917 600
917 600
917 600
917 600
917 600
917 600
917 600
917 600
917 600
917 600
917 600
917 600
917 600
917 600
917 600
917 600
917 600
917 600
917 600
917 600
917 600
917 600
917 600
917 600
917 600
917 600

QUA
ELG
ELG
uss
ELG
ELG
ELG
ELG
ELG
ELG
ELG
ELG
ELG
PIO
ELG
ELG
ELG
ELG
ELG
PIO
PIO
PIO
PIO
DAN
HAS
HAS
DAN
KIN
VIC
VIC
FEL
VIC
KIN
JPI
CLO
CLO
MEL
MEL
MEL
MEL
MEL
MEL
ELG
MEL
MEL
SEA
ELG
MEL
ELG
BPR
CRA
VIC
VIC
VIC
VIC

30-9867
EOS-240B-1000
EOS-240B-1000
VS232P
EO0S-925-100
EHC-555-200
EHC-555-200
EHC-555R
R-736

R-842

R-840
RK-401
RM-1786-16
S$1010
RDS-920-16
RDS-921-16
RDS-1920-16
RM-1731-16
RM-1792-16
$1024
CRN-731-48
PK-126-25
PK-9-25
50664CP
4721

2C5712
50664CP
CR6625SI
HS3764M
0532485
17725
47948
MBA445S|
SH1350S
2546

2535

M-55
M-55HV
K-55

55-52

1S-55G
IS-55E
M-55005
M-155
M-155HV
423NPS
EP185BR
22120
HL-2148S
BP234

12720
HS3764M
5775
95123P
MS15352

VALVE GUIDE

VALVE STEM OIL SEALS
VALVE STEM OIL SEALS
UMBRELLA VALVE SEALS
VALVE STEM OIL SEALS
HARDENED VALVE KEY
HARDENED VALVE KEY
11/32 1GV KEY 16/PR
ROCKER ARM

ROCKER ARM 3/8 STUD
ROCKER ARM

ROCKER ARM KITS
ROCKER ARM NUT 3/8
HP ROCKER NUT 3/8
ROCKER STUD-PRESS

ROCKER ARM COMPONENT

ROCKER STUDS

ROCKER BALL-SMOOTH
ROCKER BALL-GROOVED
HP ROCKER BALL KIT
ROD NUTS 3/8X24
WOODRUFF KEYS 1 3/8
WOODRUFF KEYS 3/4
PC PISTON RINGS

STEEL RINGS

CHROME RINGS

PC PISTON RINGS

ROD BEARINGS

HEAD GASKET SET

OIL PAN GASKET

REV ROTATE REAR SEAL
REV ROT T/CVR SEAL
MAIN BEARINGS

CAM BEARINGS

TIMING GEARS

TIMING GEARS

OIL PUMP

HIGH VOLUME OIL PUMP
OIL PUMP KIT EXC HV
OIL PUMP SCREEN

O/P DRIVE-NYLON GDE
O/P DRIVE W/STEEL GD
OIL PUMP SHAFT GUIDE
OIL PUMP

HIGH VOLUME OIL PUMP
PISTONS DISH TOP
EXPANSION PLUG KITS
REV ROTATION CAM
LIFTER W/O AFM

GM 4.3L V6 CONN ROD
CRANKSHAFT KIT

HEAD GASKET SET
HEAD GASKET

EXH MANIFOLD GASKET
INTAKE GASKET 85-87

= PR R R R PR R R R PR R
NP NNNNNENNNMNNENNNNREEO

L e N e e e e e e e N e N e S e S e e e e e e e S e

-
N

[ R )}

Page 12




Stottan

262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262
262

2222222222222 2222222222222222222222222z2z2z222z2z2z2z2z2z2zz2zz222222

GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L 175/185 V-6
GM 4.3L175/185 V-6
GM 4.3L175/185 V-6
GM 4.3L175/185 V-6
GM 4.3L175/185 V-6
GM 4.3L175/185 V-6
GM 4.3L175/185 V-6
GM 4.3L175/185 V-6
GM 4.3L175/185 V-6
GM 4.3L175/185 V-6
GM 4.3L175/185 V-6
GM 4.3L175/185 V-6
GM 4.3L175/185 V-6
GM 4.3L 175/185 V-6

1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
1-PC SEAL W/O BAL SH
W/1-PC SEAL & BAL SH
W/1-PC SEAL & BAL SH
W/1-PC SEAL & BAL SH
W/1-PC SEAL & BAL SH
W/1-PC SEAL & BAL SH
W/1-PC SEAL & BAL SH
W/1-PC SEAL & BAL SH
W/1-PC SEAL & BAL SH
W/1-PC SEAL & BAL SH
W/1-PC SEAL & BAL SH
W/1-PC SEAL & BAL SH
W/1-PC SEAL & BAL SH
W/1-PC SEAL & BAL SH
W/1-PC SEAL & BAL SH
W/1-PC SEAL & BAL SH
W/1-PC SEAL & BAL SH
W/1-PC SEAL & BAL SH
W/1-PC SEAL & BAL SH
W/1-PC SEAL & BAL SH
W/1-PC SEAL & BAL SH
W/1-PC SEAL & BAL SH
W/1-PC SEAL & BAL SH
W/1-PC SEAL & BAL SH

REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
REV ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM
STD ROT/ROLLER CAM

917 600
917 600
917 600
917 600
917 600
917 600
917 600
917 600
917 600
917 600
917 600
917 600
917 600
917 600
917 600
917 600
917 600
917 600
917 600
917 600
917 600
917 600
917 600
917 600
917 600
917 600
917 600
917 600
917 600
917 600
917 600
917 600
1682 600
1682 600
1682 600
1682 600
1682 600
1682 600
1682 600
1682 600
1682 600
1682 600
1682 600
1682 600
1682 600
1682 600
1682 600
1682 600
1682 600
1682 600
1682 600
1682 600
1682 600
1682 600
1682 600

VIC
FEL
VIC
ELG
ELG
ELG
QUA
ELG
QUA
QUA
ELG
uss
ELG
ELG
ELG
ELG
ELG
ELG
ELG
ELG
ELG
ELG
PIO
ELG
ELG
ELG
ELG
ELG
PIO
PIO
PIO
PIO
HAS
KIN
FEL
VIC
FEL
KIN
JPI
CLO
MEL
SEA
ELG
ELG
ELG
VIC
VIC
VIC
VIC
VIC
VIC
VIC
VIC
VIC
VIC

0532485
17725
47948
1-408B
E-1923B
EX-1779B
30-7946
57118S
30-6867
30-9867
EOS-240B-1000
VS232pP
EO0S-925-100
EHC-555-200
EHC-555-200
EHC-555R
R-736

R-842

R-840
RK-1736
RK-401
RM-1786-16
$1010
RDS-920-16
RDS-921-16
RDS-1920-16
RM-1731-16
RM-1792-16
$1024
CRN-731-48
PK-126-25
PK-9-25
4721
CR6625SI
17211
HS3764M
17116
MBA445S|
SH1350S
C3090
M-155
H728P
EP185BR
E-1748-S
HL-2148S
HS3764M
5775
VS50024TC
95123P
MS15352
0530934
0532485
Jv554

Jvasl
JV1041

OIL PAN GASKET

REV ROTATE REAR SEAL
REV ROT T/CVR SEAL
CHROME VLVS 1.938 HD
CHROME VALVES 1.5 HD
VALVES .371 STEM 1.5
VALVE GUIDE

SPIRAL VALVE GUIDES
VALVE GUIDE

VALVE GUIDE

VALVE STEM OIL SEALS
UMBRELLA VALVE SEALS
VALVE STEM OIL SEALS
HARDENED VALVE KEY
HARDENED VALVE KEY
11/32 1GV KEY 16/PR
ROCKER ARM

ROCKER ARM 3/8 STUD
ROCKER ARM

ROCKER ARM KITS
ROCKER ARM KITS
ROCKER ARM NUT 3/8
HP ROCKER NUT 3/8
ROCKER STUD-PRESS

ROCKER ARM COMPONENT

ROCKER STUDS
ROCKER BALL-SMOOTH
ROCKER BALL-GROOVED
HP ROCKER BALL KIT
ROD NUTS 3/8X24
WOODRUFF KEYS 1 3/8
WOODRUFF KEYS 3/4
STEEL RINGS

ROD BEARINGS
MARINE HEAD SET
HEAD GASKET SET
MARINE LOWER SET
MAIN BEARINGS

CAM BEARINGS
TIMING SET

OIL PUMP

PISTONS

EXPANSION PLUG KITS
CAMSHAFT

LIFTER W/O AFM

HEAD GASKET SET
HEAD GASKET

VALVE COVER GASKET
EXH MANIFOLD GASKET
INTAKE GASKET 85-87
OIL PAN GASKET

OIL PAN GASKET

REAR MAIN RUB 1 PC
TIMING COVER SET
TIMING COVER SET

DD DD DD DR

= PR R R R PR R R R PR R R R
N R NNNNNENNNMNNNENNNNDN

e e N e e e e e N e e e e

-
N

e e e e e L SR

Page 13




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan

302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302

2222222222222 2222222222222222222222222z2z2z222z2z2z2z2z2z2zz2zz222222

FORD 5.0L 215/225 V8
FORD 5.0L 215/225 V8
FORD 5.0L 215/225 V8
FORD 5.0L 215/225 V8
FORD 5.0L 215/225 V8
FORD 5.0L 215/225 V8
FORD 5.0L 215/225 V8
FORD 5.0L 215/225 V8
FORD 5.0L 215/225 V8
FORD 5.0L 215/225 V8
FORD 5.0L 215/225 V8
FORD 5.0L 215/225 V8
FORD 5.0L 215/225 V8
FORD 5.0L 215/225 V8
FORD 5.0L 215/225 V8
FORD 5.0L 215/225 V8
FORD 5.0L 215/225 V8
FORD 5.0L 215/225 V8
FORD 5.0L 215/225 V8
FORD 5.0L 215/225 V8
FORD 5.0L 215/225 V8
FORD 5.0L 215/225 V8
FORD 5.0L 215/225 V8
FORD 5.0L 215/225 V8
FORD 5.0L 215/225 V8
FORD 5.0L 215/225 V8
FORD 5.0L 215/225 V8
FORD 5.0L 215/225 V8
FORD 5.0L 215/225 V8
FORD 5.0L 215/225 V8
FORD 5.0L 215/225 V8
FORD 5.0L 215/225 V8
FORD 5.0L 215/225 V8
FORD 5.0L 215/225 V8
FORD 5.0L 215/225 V8
FORD 5.0L 215/225 V8
FORD 5.0L 215/225 V8
FORD 5.0L 215/225 V8
FORD 5.0L 215/225 V8
FORD 5.0L 215/225 V8
FORD 5.0L 215/225 V8
FORD 5.0L 215/225 V8
FORD 5.0L 215/225 V8
FORD 5.0L 215/225 V8
FORD 5.0L 215/225 V8
FORD 5.0L 215/225 V8
FORD 5.0L 215/225 V8
FORD 5.0L 215/225 V8
FORD 5.0L 215/225 V8
FORD 5.0L 215/225 V8
FORD 5.0L 215/225 V8
FORD 5.0L 215/225 V8
FORD 5.0L 215/225 V8
FORD 5.0L 215/225 V8
FORD 5.0L 215/225 V8

2-PC REAR SEAL
2-PC REAR SEAL
2-PC REAR SEAL
2-PC REAR SEAL
2-PC REAR SEAL
2-PC REAR SEAL
2-PC REAR SEAL
2-PC REAR SEAL
2-PC REAR SEAL
2-PC REAR SEAL
2-PC REAR SEAL
2-PC REAR SEAL
2-PC REAR SEAL
2-PC REAR SEAL
2-PC REAR SEAL
2-PC REAR SEAL
2-PC REAR SEAL
2-PC REAR SEAL
2-PC REAR SEAL
2-PC REAR SEAL
2-PC REAR SEAL
2-PC REAR SEAL
2-PC REAR SEAL
2-PC REAR SEAL
2-PC REAR SEAL
2-PC REAR SEAL
2-PC REAR SEAL
2-PC REAR SEAL
2-PC REAR SEAL
2-PC REAR SEAL
2-PC REAR SEAL
2-PC REAR SEAL
2-PC REAR SEAL
2-PC REAR SEAL
2-PC REAR SEAL
2-PC REAR SEAL
2-PC REAR SEAL
2-PC REAR SEAL
2-PC REAR SEAL
2-PC REAR SEAL
2-PC REAR SEAL
2-PC REAR SEAL
2-PC REAR SEAL
2-PC REAR SEAL
2-PC REAR SEAL
2-PC REAR SEAL
2-PC REAR SEAL
2-PC REAR SEAL
2-PC REAR SEAL
2-PC REAR SEAL
2-PC REAR SEAL
2-PC REAR SEAL
2-PC REAR SEAL
2-PC REAR SEAL
2-PC REAR SEAL

REV ROT-351W F/ORDER
REV ROT-351W F/ORDER
REV ROT-351W F/ORDER
REV ROT-351W F/ORDER
REV ROT-351W F/ORDER
REV ROT-351W F/ORDER
REV ROT-351W F/ORDER
REV ROT-351W F/ORDER
REV ROT-351W F/ORDER
REV ROT-351W F/ORDER
REV ROT-351W F/ORDER
REV ROT-351W F/ORDER
REV ROT-351W F/ORDER
REV ROT-351W F/ORDER
REV ROT-351W F/ORDER
REV ROT-351W F/ORDER
REV ROT-351W F/ORDER
REV ROT-351W F/ORDER
REV ROT-351W F/ORDER
REV ROT-351W F/ORDER
REV ROT-351W F/ORDER
REV ROT-351W F/ORDER
REV ROT-351W F/ORDER
REV ROT-351W F/ORDER
REV ROT-351W F/ORDER
REV ROT-351W F/ORDER
REV ROT-351W F/ORDER
REV ROT-351W F/ORDER
REV ROT-351W F/ORDER
REV ROT-351W F/ORDER
REV ROT-351W F/ORDER
REV ROT-351W F/ORDER
REV ROT-351W F/ORDER
REV ROT-351W F/ORDER
REV ROT-351W F/ORDER
REV ROT-351W F/ORDER
REV ROT-351W F/ORDER
REV ROT-351W F/ORDER
REV ROT-351W F/ORDER
REV ROT-351W F/ORDER
REV ROT-351W F/ORDER
REV ROT-351W F/ORDER
REV ROT-351W F/ORDER
REV ROT-351W F/ORDER
REV ROT-351W F/ORDER
REV ROT-351W F/ORDER
REV ROT-351W F/ORDER
REV ROT-351W F/ORDER
REV ROT-351W F/ORDER
REV ROT-351W F/ORDER
REV ROT-351W F/ORDER
REV ROT-351W F/ORDER
REV ROT-351W F/ORDER
REV ROT-351W F/ORDER
REV ROT-351W F/ORDER

954 600
954 600
954 600
954 600
954 600
954 600
954 600
954 600
954 600
954 600
954 600
954 600
954 600
954 600
954 600
954 600
954 600
954 600
954 600
954 600
954 600
954 600
954 600
954 600
954 600
954 600
954 600
954 600
954 600
954 600
954 600
954 600
954 600
954 600
954 600
954 600
954 600
954 600
954 600
954 600
954 600
954 600
954 600
954 600
954 600
954 600
954 600
954 600
954 600
954 600
954 600
954 600
954 600
954 600
954 600

MEL
MEL
MEL
MEL
MEL
SEA
SEA
ELG
MEL
ELG
BPR
VIC
VIC
VIC
VIC
VIC
VIC
VIC
VIC
VIC
FEL
VIC
QUA
QUA
ELG
ELG
ELG
ELG
ELG
PIO
ELG
ELG
PIO
ELG
PIO
ELG
ELG
ELG
ELG
ELG
ELG
ELG
ELG
PIO
ELG
PIO
PIO
PIO
PIO
PIO
PIO
PIO
PIO
PIO
PIO

K-68A

68-S

68-53

68-S5

1S-68

272AP
273AP
EP108BR
24209
HL-1900S
BP154
3428VM
V538300
VS38300H
VS38300HTC
VS38300R
950255G
MS15202X
0530531
0S30531TC
17746
48023
30-5607
30-9607
E0S-915-100
E0S-925-100
R-886

R-888

R-889
PF-524-50
RK-548
RK-610
$1028
RM-1741-8
RM-652-B-16
RDS-2920-16
RM-655-16
RM-1786-16
RM-1791-16
RM-1740-16
RM-1776-16
RM-588-8
RM-1771-16
RM-689-16
PR-281S
PR-748-4
PF-633-20
PF-636-20
$1018
CRB-640-8
$1030
CRN-610-48
CRN-611-48
PF-607-10
PF-113-5

O/P KIT FOR M68A

OIL PUMP SCREEN

OIL PUMP SCREEN

OIL PUMP SCREEN

OIL PUMP DRIVE

PISTON .912 PIN LD

FLAT TOP 4VR PISTONS
EXPANSION PLUG KITS

HI PERF CAMSHAFT
LIFTER

CN ROD 302 C80E/F2TE
HEAD GASKET

VALVE COVER CORK/RUB
VALVE COVER H/T C/R
VALVE COVER HTTC
VALVE COVER GASKET
PERF EXHAUST GASKET
INTAKE GASKET

OIL PAN GKT-MULTI PC
OIL PAN GKT MULTI-PC
REV ROTATE REAR SEAL
REV ROT T/COVER SEAL
VALVE GUIDE 2.25 OAL
VALVE GUIDE 2.25 OAL
VALVE STEM OIL SEALS
VALVE STEM OIL SEALS
ROCKER ARM

ROCKER ARM

ROCKER ARM

ROCKER ARM BAFFEL
ROCKER ARM KITS
ROCKER ARM KITS

HP CAST ROCKER KIT
ROCKER ARM COMPONENT
ROCKER STUD .006 OS
ROCKER STUD-STUD
ROCKER ARM COMPONENT
ROCKER ARM NUT 3/8
ROCKER ARM COMPONENT
ROCKER ARM BOLT
ROCKER ARM PIVOT
ROCKER ARM COMPONENT
ROCKER ARM COMPONENT
HP ROCKER BALL 3/8
PUSH RODS

H/P CHROME PUSHRODS
HEAD BOLT 3 29/32
HEAD BOLT 2 9/32

HEAD BOLT WASHER KIT
ROD BOLTS 5/16X24

HP ROD BOLT KIT 3/8
CONNECTING ROD NUTS
ROD NUTS-MARSDEN
CAM GEAR WASHER .215
OUTER F/P ECCENTRIC

=
L e e T e e e i

e e e e e e e e S e )

o = NN B R R e e B R R R R R R R R R
BB OO O OO0 DNDXNDDDDDDDDE DDDDDDDDDD

Page 24




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan




Stottan

Page 91



